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Aufgabe 1

Dividiere schriftlich. Fülle die Lücken.

a)

2 1 0 8 : 3 1 = 6 8

1 6·31=186

2 4

4 8·31=248

0

b)

3 9 6 8 : 6 2 = 6 4

6·62=372

2

2 4·62=248

0

c)

8 1 4 2 : 4 6 = 1 7 7

6 1·46=46

3 5

3 2 2 7·46=322

3

3 2 2 7·46=322

0

d)

5 4 8 8 : 9 8 = 5 6

9 5·98=490

8

8 6·98=588

Aufgabe 2

Dividiere schriftlich. Fülle die Lücken.

a)

1 5 1 : 1 5 =

1 5

0 1

0

1

b)

3 5 9 : 3 9 =

3 5 1

8

c)

4 2 5 : 3 6 =

3 6

6

3 6

2 9

d)

3 8 4 : 7 9 =

3 1 6

6 8

Aufgabe 3

Dividiere schriftlich. Fülle die Lücken.

a)

2 1 6 : 1 8 =

1·18=18

2·18=36
b)

7 2 2 : 1 9 =

3·19=57

8·19=152
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c)

3 2 6 : 9 2 =

3·92=276
d)

5 4 7 : 3 3 =

1·33=33

6·33=198

Aufgabe 4

Dividiere schriftlich. Fülle die Lücken.

a)

3 1 5 0 : 9 0 = 5

7 0 3·90=270

5 5·90=450

0

b)

8 6 9 2 : 8 2 = 0 6

2 1·82=82

0·82=0

4 2

9 2 6·82=492

0

c)

1 2 9 8 : 1 1 = 1

1 1·11=11

1

1 1 1·11=11

8 8

8·11=88

0

d)

5 8 7 1 : 1 9 = 0 9

7 3·19=57

0·19=0

1

1 9·19=171

0

Viel Erfolg!
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